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Ni Calib. MC-DATA comparison check



1) bad channel mask������%������$��
Bad channel mask ON/OFF�&�

run 73678, bad-run 73673, hit threshold 34
apply_softtrg_badch.F

L. 102 call skbadch(run_num, 1, ierr) <= added
input root file = /disk01/usr5/ynakano/nickel/solar_mar18/mcfit/

73678/low.mc.ni.073678.000001.root

count_sle_trig.cpp�main trg#�”idtgsk!=0”�
��
idtgsk=0���(	����	��Mask����
idtgsk=4,5�!����
histgram(energy, n50)�mask on/off�'���� "
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2)
�
�calib()��$�
list_of_ni_run.csh���

- %�Ni position�28, 31, 34 hit

threshold�run�%�����
- MC � run � � � � 
 � (Ni

position�%���)�*%��
	�

- File!����(run�� !�
���)

list_of_ni_run.csh����'

���"+����run&�����
���
,#��
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YNakano-MC!����� �
thr.     Run Event
28hit, 73681, 8.04389e+06
31hit, 73678, 5.98058e+06
34hit, 73680, 2.99131e+06

run73681�*)'	
�#�"�%$�
��
�&2�4+/�8�����-
���MC�trigger efficiency���
��
07����
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YNakano-MC-�*#+%,'
thr.     Run Event
28hit, 73681, 8.04389e+06
31hit, 73678, 5.98058e+06
34hit, 73680, 2.99131e+06
50hit, 73681, 5.98058e+06

run73681�753���/).(10���� 2@�B8=�G�
����:���MC�trigger efficiency�&*�
�>F�
!�
Bad-channel�28, 31, 34 hit thre.�94�E3��=>H?	<DA��
=>��H?�
��"�!$�����

2018/07/10
Nhit 50�;��	�E3��������� apply_softtrg_badch.F�

softtrg_thr(2) = 34
�6C�������	"���
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YNakano-%(��������
thr.     Run Event (6-10 MeV)
28hit, 73681, 973192
31hit, 73678, 1.4728e+06
34hit, 73680, 1.43855e+06

6-10 MeV*��run73681�#"!��� '	
����run����
��)&��
��
3-5 MeV*�: 28, 31, 34hit thr.�$����
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YNakano-'*���n50-+�����
thr.     Run Event (n50: 35-100)
28hit, 73681, 1.15221e+06
31hit, 73678, 1.74358e+06
34hit, 73680, 1.7035e+06

35<n50<100/�
run73681�#! 
n50<35/�: 28, 31, 34hit thr.
%���

Run73681(28)
Run73678(31)
Run73680(34)

count_sle_trig.cpp

If(nhit[1]<20) continue;
�(&	��
n500)�20���
n50�nhit�.,��$����
=> nhit[1] ≤ 20�"��
��

n50
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if(Nhit[1] > 20 ) continue� 
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Run73678 (31hit thre.)
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Data
MC
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LOWE->energymc[2] : MC generated energy(s) (1st & 2nd)

energymc[0]

energymc[1]

Energy (MeV)
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���

• MC�28, 31, 34 hit threshold�����������
Eff�@?�;07�D�	��2������

• 28hit/31hit, 28hit/34hit�eff.>/�run=4�*��
���1�B9���������

• MC bad channel mask�idtgsk=0�A-������
• 
�
�MC�exp�&#$"('�+:�����
n50 5bin���5,�� %)!�>/���
n50<30�Energy over estimate����
�����
��

• LOWE->energymc[2]@?�<����1st�2nd��
�38����1st�NiCE�2nd�BGCE�.6�
LOWE-> darkmc�������


